000 «XHNJIT»

MPAMC
Ha NUPCUHT

1. IupcuHr yueii:

X/

» xpsawmesas ayra = 1200 p.
» unaactpuaji = 1400 p.

¢ paxoBuHHas yactb = 1000 — 1200 p.
*» mouka = 600 — 800 p.

s Tparyc = 1200 p.

2. OpajbHbIil NMPCUHT:
*» ry6a =1000 p.
* meuku = 1200 — 2000 p.
s s3bIk = 1200 p.
* y3aeuka = 1000 p.

3. IMupcunr 6poBu:
¢ ropusoHTajabsnbli = 1100 p.

‘0

% BepTuKaIbHBIN = 1000 p.

/7

* antuoOposs = 1100 p.

4. TIMpcHHT MynKa:
% BepTuKaabHbiii = 1200 — 1300 p.

5. IIupcuHr Hoca:
s centym = 1000 p.
* KpbLI0 = 900 p.

» opumx = 1100 p.
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6. HecranaapTHbIA NMUPCUHT:
¢ S3BIK TOPU30HTAILHO = 1600 p.

X/

** MOYKa yxa ropu3oHTagasHo = 1000 p.

/. NHTHUMHBIA IMPCHHT:
» cocok = 1200 - 2000 p.

IIpoxoJ yureii (0€3 CTOMMOCTH CepesKeK):
> 1 yxo =500 p.
» 2 yxa=800 p.



